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Equation (3.5) on p. 50 and Equation (5.2) on p. 101 should read: 
 

θ(h) = (θs– θr)[1 + (α|h|)n]-m + θr  , h < 0. 

        = θs  , h ≥ 0.  

Equation (3.6) on p. 51 and Equation (5.3) on p. 101 should read: 
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, h < 0. 

           = 1.  , h ≥ 0. 
 
P. 101, Equation (5.4) should read: 
 

rrs ]/)[()( θθθθ λ +−= hhh b  ,  h < hb 
         = θs   , h ≥ hb 
 
P. 124 Equation (6.8) should read: 
 

Sy = Ks[Θn
b – Θn

sura]Δt/ΔH + (θs –θr)(1 – Θb)                             (6.8) 

 

Equation (7.19) on p. 156 should read: 

 vh = Δx/(Age1 – Age2) (7.19) 

 


